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Practice One

50 ,‘/( y 7

(for Unit 1 of Book Two, College English, Intensive Reading)

Part I Reading Comprehension (40%) "é
Directions: In this part there are four pas-
sages followed by twenty ques-
tions, each with four suggested
answers, Choose the one that

you think is the best answer.

Passage 1 g velr o oj
People and the sources of air pollution
are found in the same places. This means
that cities that have large populations have
the biggest problem of dirty air. Air pollu-
tion is caused by many different things. A

major source of air pollution is the gas—

fumes from cars. Statistics show that 93
percent of all auto trips are within cities.
Another major source of dirty air is the

ergy is needed to make electrlcnty Of
course, much more electricity is used in the
city than in the country.

On the average, we throw away more
trash and garbage than the year before. The
burning of garbage contributes to air pollu-
tion. Many major_industries are also re-
sponsible for the dirty air in and around
cities. The fumes from iron, steel, chemi-
cal, and petroleum productlon add particles
to the air.

The effects of air pollution range from

_ mild headaches to death. The levels of pol-

lution found in heavy trafflc may cause
headaches or loss of clear vision. Wherever
coal and oil are used for fuel, fumes may
kill trees and plants and cause metal to cor-

rode. In some of the larger cities, these

fumes endanger the lives of human beings
by contributing to lung diseases and causing
early deaths.

1. The key point of the passage is that

A. the cause of air pollution is people .
_B. the causes and the effects of air pollu-
" tion are both found in cities
C. the effects of air pollution range from
headaches to death '
D. air pollution is caused by dirty air
2. What is the purpose of this passage?
A. to persuade people to stop polluting
the air
B. to tell the causes of air pollution
C. to tell why cities are bad places to live
. to describe how people living in cities »
feel about polluted air
3. Why is air poliution more grave in the
city than in the country?
A. Because there are large populations in
cities.
B. Because the air in the city is dirty.
C. Because there are-more cars in the
. city.
/ﬁ. Because there are much more gas
fumes from cars and burning of coal
" and oil for energy in the city than in
the country. :
4. The fumes from coal and oil may cause
metal . B
A. to turn black
B. to become rusty
(C./v to corrode
D. to twist
5. In larger cities, the fumes from coal and
oil may contribute to
early death. 7'

and cause

A. heart diseases
—B:" lung diseases ~
C. loss of clear vision
D. serious headache
Passage 2



Do you want to know something about
the history of weather? Don’t look at the
sky. Don’t look for old weather reports.
Looking at tree rings is more important.
Correct weather reports date back only one
century, but some trees can provide an ex-
act record of the weather even further back.

It is natural that a tree would grow
best in a climate with plenty of sunlight and
rainfall. Tt is also expected that little sun-
light or rainfall would limit the growth of a
tree. The change from a favorable to an un-
favorable climate can be determined by
reading the pattern of rings in a tree trunk,
To find out the weather of ten years ago,
count the rings of a tree trunk from the out-

side to the inside. Tf the tenth ring is far

from the other rings, then it is certain that
,p»lgp”gyiq{.swgw and rainy weather occurred.
If the rings are close together, then the cli-
mate was bad for the tree.

Studying tree rings is important not on-

ly for the history of weather, but also for -

the history of man.
Mexico you can find only sand—no trees

In a region of New
and no people. However, many centuries
ago a large population lived there. They left
suddenly. Why?

A scientist studied patterns of dead tree
rings which had grown there. He decided
that the people had to leave because they
had cut down all the trees. Trees were nec-
essary to make fires and bﬁildings. So, af-
ter the people destroyed the trees, they had
to move.

In this instance studying tree rings un-
covered an exciting fact about the history of
man.

6.- It is understood that in a favorable cli-
mate

A. tree rings grow close together

_B. tree rings grow far apart

C. trees in New Mexico will grow big

and tall ‘

D. people can cut down most of the trees

__..2_._

in New Mexico
7. Why did
live

ancient people usually

where there were plenty of trees?

A. Trees provided them with shade.

B. Trees indicated plenty of sunlight
and rainfall,

/C Trees were material for burning and
building houses.
D

Trees provided them with fruit and
food.

8. The scientists are interested in studying
tree rings because they can tell .
/A; whether in that area the climate was

favourable or not
B. whether a particular tree was healthy
or not
C. whether people took good care of the
trees or not N
D. how old the trees were

9. Studying dead tree rings shows
A. where the people had to go
B. what the people had to eat
C. how the people left

~D. why people had to leave
10. According to the passage, the people
had to leave the region of New Mexico -
because '
A7 they had cut down all the trees
B. there were many trees there
C. they had no water
D. bad weather stopped the growth of
trees
Passage 3
Dwight W. Morrow (1873-1931),

American ambassador to Mexico during the

1920s and later a member of the U. S. Sen-

ate, is remembered as a smart di'plomat dur-
ing a period that marked a new spirit of co-
operation in U.S. relations with Latin

America. ,

Morrow is also remembered by his fam-
ily and friends for his absentmindedness.

Once while on a train, Morrow was ap-
proached by, the conductor, who asked for




his ticket. He began to search his pockets.
No ticket appeared. Morrow began search-
ing his suitcase. B

“Never mind, sir,” said the conductor,
seeing how embarrassed Morrow was be-
coming and trying to put him at ease,
“When you find your ticket just mail it to
the company. I’'m sure you have it some-
where. ” '

-

» saidv the confused

“I’m sure, too,
diplomat as he continued his search. “But I
must find it. I need to know where I'm go-
ing!”

Another time Morrow got off a train in
New York City and hurried to a telegraph
office, where, feeling not unlike a small
boy who had got lost, he sent the following
to his secretary; “Am in New York but
don’t know why. ”

Within minutes came the short reply:
“You are not supposed to be in New York.
You should be in Princeton delivering a lec-
ture., ” ,

11. The anecdotes show Morrow’s

A. cleverness as’a diplomat

B. foolishness ‘

C. sense of humor

D). absentmindedness
12. When Morrow could not show his tick-
et, the conductor was

Avimpatient

g B. understanding

C. annoyed

D. angry
13. Morrow was very upset by the loss of
®  the ticket because
. /A‘;fhe had forgotten where he was going

B. he would be fined if he couldn’t show
his ticket '

C. the conductor looked impatient

D. the conductor might think of him as

a liar
14. When Morrow got off the train in New

York City, ‘

A. he forgot the address

»

B. he forgot his suitcases
<he did not know that he was in a
wrong city

D. his secretary wasn’t there to meet

him . '
15. Except for his absentmindedness, Mor-
row was . "

A. a good father

B. a bad Senator

C. a bad husband

D. a good diplomat

assage 4 .

' What is sleep? Do we really need it—or
is it just a habit? Why do some people seem
to need more sleep than others? What are
dreams? Scientists have been studying sleep
for years, but so far they know only a few
of the answers.

What happens when you sleep? As you
fall asleep, your muscles relax, your heart-
beat slows down, your eyes move around
slowly under closed lids. You may dream.,
But if someone should wake you, you may
not even realize that you were asleep.

You move from this light sleep into
deeper and deeper sleep. It takes about a
half hour for you to reach the deep-sleep
level. o

It lasts for about 20 minutes. Then,
slowly you begin to drift back toward the
surface. Your eye movements become
rapid. Your dreams seem real. This stage
lasts for about 10 minutes. Then slowly, .
you drift back into deep sleep. This drift-
ing—down and then up again—goes on all
night.

Toward morning, your periods of deep
sleep grow shorter. The periods of light

sleep grow longer. Your body temperature

rises. You dream. These ‘are the dreams
that you remember. But your mind has been

-active all night. .

How long does a dream take? Some-
times just a-seeend. But some dreams take
as long as if they were real. '

___3_



Can you sleep with your eyes open?
Yes, if you are tired enough. Your eyes
stay open, but your mind blanks out for a
few seconds.

What happens if people are kept from
sleeping? They get irritable. They find it
harder and harder to do easy, everyday
jobs. They can’t remember things. When
forced to go without sleep for several days,
people often begin imagining things.

What if you have trouble going to
sleep? Experts say you shouldn’ worry
about it. When you get tired enough, you’ll
sleep.

16. The author’s purpose is -

A. to explain dreams

B. to explain what happens when you

< sleep

C. to tell how to fall asleep

D. to tell you not to worry about sleep
17. From the information in this article,you

could not say that )

A. scientists know only a little ahout
[ sleep

"~ “B. you dream only in deep sleep
C. people work normally when they

lose sleep

D. a dream may last only a moment v

18. During which period of the night does
one have dreams that are more likely to
be remembered?

A. The first 30 minutes.

B. The first 50 minutes.

C. About the middle of the night.
-D: Toward morning.

19. What do experts suggest if one has
trouble going to sleep?
A. Keep in bed.

B. Go to a doctor.
_&. Don’t worry about it.
D. Keep your eyes closed.

20. A word opposite in meaning to
“relaxed” is
A, tense B. loose

€. lazy D. quick

_4_

ooy 1ol

Part I Vocabulary (15%) ,_7 ‘

Section A

Directions; For each of the following
blanks, four choices are given.
Choose the most appropriate
one.

-

21. I have the conclusion that such a
plan will not work. - —
—A. come to B. get to
C. reach , draw
22. The chemistry téacher asked the pupil
what water is .
A. consisted of B. formed of

C. comprised of _D. composed of

- 23. Theé helicopter hovered the spot
where the lost man had been last seen.

A. from IZ; on

A over . D. up

24. Bad weather the construction of
the building by one month.
A. set down B. set off
L. set back D. set on
25. This cheap coal a lot of smoke.
A. gives off )
C. gives over
26. Please

B. gives out
D. gives up
with your work.

A. process B. precede
Q"proceed D. preside
27. ISoes it much to have the
recorder repaired?
AL cost B. pay
- C. spend D. afford
28. The story was so touching that I could
hardly © my tears.
A. hold on B. hold up
C. holdonto  —D. hold back
29. We all the achievements he has
made in his experiments.
A admire B. adopt
C. advise D. adjust

30. Not long ago, John Smith , whom you
know very well, was a car acci-

dent.

A. related to

C. included in

B involved in
D. damaged by




Section B .
Directions; For each of the underlined
words or phrases, four choices
are given. Choose the one that
best explains or defines the
underlined part.

31. “How did you manage to persuade him

to come?”

A. try to persuade

B. fail to persuade

L. succeed in persuading

D. succeed to persuade /{Lp» ik 0
32. The actress likes to be known as “May

Diamond”, although it is not her real

name.

A. called B. called as
* €7 named as D. termed as
33. The Empire State Building that sticks
tallest

A
yo

up on Manhattan is the
skyscraper in the world.
/,‘ A. projectg}xpward/s,B. stand up
C. projects over D. stand out
34. The old lady has survived all her chil-
dren.
A. continued to live
B. continued to exist
_C. lived longer than
D. remained alive
35. Travel through space to other planets in
a manned spacecraft interests many
people today.
__A. made by one or more persons
L B. developed by one or more persons
C. occupied by one or more persons
D, carried by one or more persons
Part B Structure (15%) T
Section A
Directions: Each of the following sentences
is incomplete and followed by
four choices. Choose the one
that best completes each sen-
tence. ‘
36. Idon’t know what’s wrong with me to-
day: I keep
A. break

things.
B. broke

e

C. broken LB breaking

37. “A man was killed. ” “Where is the body
of the
A. murder

man?™

_B. murdered

'C. murdering D. having murdered
38. Professor Tate about him.
= A. heard the studénts to talk
B. heard the talk by the students
C. heard the student’s talking
B heard the students talk
39. As for the structure, the house isn’t
____they are asking.
A. worth of the price
' B worthy of the price
Q. worth the price
D. worthy the price
40. The author suggested away from
cities.
A. having run

_B. running
-

C. run D. to run
" 41. I can give you lots of on this
matter.
A. datas B. datum
C. informations D./infbrmation
42. on a clear day, far from the city

crowds; the mountains give him a sense
of infinite peace.
|/ A. Tf walking
B. Walking
€. While walking
D. When one is walking
43. So little
the lecture was completely beyond me.

7.

about mathematics that

A. Iknow B. 1 knew
C. dol know /D did I know
44. the 1500’ the first Euro-

pean explored the coast of California.
A. Tt was not until---then
B. It is not until:--when
C. It is until--+that

B. It was not until--that

45. 1 told him how to get here but perhaps I
him a map.
_K. should have given

-

1%. ought to give



4

~ 47.

C. had to give
D. must have given T
Section B -5 @

Directions; Each of the following sentences
has four parts underlined and
marked A, B, C, and D. You
are to identify the one that
needs correction.

46. The achal quantity of this kind of acid

“ia required in the daily diet

B C
is not known.
D
With all the knowledge and skill

acqui%-n# in thousands of flights in the
A L {7

last ten years, I would hardly think to-
day of making my first flight on a
C

strange machine going 27 miles per

~

hour.

48. Mr. Brown often wore a heavy coat be-
A (4B
cause he was not used to1ive in such a
C D

. cold climate.
49. The news of the loss suffered by our

oot A
troops were. much worse than we
- B C
had expected.
D (fV n

\/5”0 The hostess told us it was we being late
'S +

that caused her to serve dinner an hour *

B C
later than usual. i
D - I’/ N Q‘\ r‘
Part N Cloze (10%) — v
Directions: Fill in each of the numbered

blanks with the best of the four

choices given. '
It is the firm belief of astronomers _ 51
there are living creatures on other plan-

ets It is also their earnest wish that some ‘/

day contact may be made 52 such living

greatures 53

__6_

sending messages 54

D

radio signals. The 55
with people on other planets may one day
56  since radio telescopes _ 57
Scientific projects of various kinds are
now being launched to 58  signals or to
receive signals from 59  planets. The
question now- 60 ; What sort of message
61  so that it could be understood? To
send a message in any language would be
not be intelli-

is the opinion of scientists

impractical as it would 62
gible. 63
that a signal in the form of a simple arith-
metic sequence might 64 ‘
~_Scientists think that pictures might al-
so be understood, so it 65 a good idea
to send pictures of the people 66 our
planet. Pictures of domestic animals togeth-
er with various crops we 67 for our
food might also be sent. Pictures of houses
and buildings might 68  further infor-
mation about our life and society.
As time goes on, TV pictures might be
sent which would 69  the beings on oth-
er planets aware 70 life and the level of

civilization on our planet.

51. A. which B. what

C. where «B/ that
52.-AC with B. upon

C. by" D. to
53. A. to =B by

C. of " D. with
54. A in view of ~B+ with the help of
, C. in honour of D. in the form of
55.-A7 dream B. fact

C. nightmare D. fancy

56. A. become truth -Br realize
C. come into use D). come true
57. A. being invented

B. have now invented
/C/ have now been invented
D. invented

58. A. release B. post
.Cr deliver D. send
59. A. distant B. long-distance

C. far- reaching /D/ far-sighted

of communicating




. gets B. arises
. .
. raises

. had been sent

D. produces

. should be sent
7 would be sent
. would send

. hardly B. nearly
7 certainly

e D. somehow
\,
63. A, It
C‘

B. What .

. That D. There

64. A. understand /B‘./be understood
C. be understandinE‘. understood
65. A. had to be B was to be
" C. must have beenD. would be
66. A:. living -B. existing
(2; finhabiting D. establishing
67. A raise B. breed
/é:t/‘manufacture D. reproduce
68. A. delay ‘B. do
_C: deliver D, convey
69. A. give B. make
C. show _D. indicate
70._A: of B. on
C. about D. as

Part V Translation (10%)
71. 2 N EB O FRBUE HE (take steps) B

- LBR, MHAMEESR,
72. {1956 FERIEFTE, e —HEERE.
B.ENFERURMNEXRFBRAHEEN

R\ =W .

T4 RTRGHE MBEARTESHENENE

IS
75. X {4 BARNTH R Z IR, F T A% R

R —44S ANHER BRI,
Part VI Writing (10%)
Directions; »

Change the underlined parts in the fol-
lowing passage to make the passage more
concise (fRii&). ‘

In his story, H. G. Wells described how
two men made a sphere (X{%). The sphere
was not.affected by the Earth’s gravity. In
this the two men eventually reached the
moon. On the moon they fell into a Eieép
hole. The deep hole went many miles under
the ground. They, then, met a race of
strange creatures. The race of strange crea-

tures lived in cities in the centre of the
moon. After many strange adventures, one
of the men managed to escape and make his
way back to Earth,



Practice Two
(for Unit 2 of Book Two, College English, Intensive Reading)

Y

8 2

Part 1 Reading Comprehension (40%)
Directions: (omitted)
Passage 1

In the traditional marriage, the man

worked at a job to earn money for the fami-

ly. Most men worked in an office, a facto-

ry, or some other place away from the

home. Since the man earned the money, he
paid the bills. The money was used for

food, clothes, a house, and other family

needs. The man made most of the deci-

sions, He was the boss.

In the traditional marriage, the woman

seldom worked away from the house. She

stayed at home to care for the children and
her husband. She cooked the meals,
cleaned house, washed the clothes, and did

other household work. Her job at home was

very important.

In recent years, many couples continue

to have a traditional relationship of this

kind. The man has a job and earns the mon-

ey for the family. The woman stays at home

and cares for the children and the house.

Many Americans are happy with this kind

of marriage. But some other Americans

have a different impression of marriage and

family responsibilities.

There are two important differences in

male and female roles now. One is that both

men and women have many more choices.

They may choose to marry or to stay single.
They may choose to work or to stay at

home. Both men and women may choose
roles that are comfortable for them.

_A-second difference in male and female

roles is that within marriage many decisions
and responsibilities are shared. The hus-
band and wife may choose to have children,

g

or they miy not. If they have children, the
man may take care of them some of the
time, all of the time, or not at all. The
woman may want to stay at home and take
care of the children. Or she may want to go
to work. Men and women now decide these
things together in a marriage. Many mar-
ried people now share these decisions and
the responsibilities of their families.
1. Which of the following is not true‘in the
traditional marriage? '
A. Men worked at a job to earn money
for the family.
_B. The woman made most of decisions.
C. The woman stayed at home to care for
the children.
D. The man paid the bills.
2. In recent years, .
A. young couples reject the traditional
relationship
B. every woman has a job to earn money
for the family
C. the woman doesn’t stay at home and
care for the children and the house
)3. the role of men and women has begun
to change
3. According to this passage, which is not
true in the traditional marriage?
A. Many decisions were not made by\/the
wife.
B. Most women did not work away from
the home. ‘
C. The man was the boss in the home.
_D.- The man stayed home and took care
of the children all the time.
4. The following are all now true except

A. they may choose to have children or



not hd

B. the man may take care of the children
some of the time
C. the woman may want to go to work
_D+ the woman can’t be the most impor-
tant person in the house
5. Which of the following is not true?
A. The man was the boss in the tradi-
tional marriage.
B. The woman’s job at home was very
important in the past.
C. Many Americans still have a tradi-
tional marriage.
)3/ Everyone tries to get married.
Passage 2 ¢

A small crowd had gathered round the
entrance to the park. His curiosity aroused,
Robert crossed the road to see what was
happening. He found that the centre of at-
traction was an old man with a performing
monkey. The monkey’s tricks, he soon dis-
covered, were in no way remarkable so, af-
ter throwing a few pennies in the dirty hat
which the man had placed on the pavement,
Robert began to move off, along with other
members of the crowd.

At this point the man suddenly let out
a loud cry. Everyone turned to see what had
happened. The man was bending over his
monkey, which now lay quite still on the
pavement. He picked up the apparently life-
less body and, holding it close to him, began
to weep. A young man stepped forward
from the crowd and, taking some money
from his pocket, dropped it into the hat.
Robert and several other people did like-
wise, until the pennies in the hat were cov-
ered with silver coins. Meanwhile, the man
continued to hold the dead monkey in his
arms and seemed to take no notice of what
was going on about him.

A few months later, Robert came
across the old man again in another part of
the city. The man had a monkey, bought
no doubt with the money which the crowd

AI”\\, A-

had given him. It did not, however, seem
any better at its tricks than the previous
one. Robert was pleased to see that the old
man was still able to earn a living, though
on this occasion, having partly paid for the
monkey out of his own pocket, he did not
feel inclined to throw any money into the
hat.

But the performance was not yet over!
Once again the old man let out a loud cry.
Once again the monkey lay still on the pave-
ment. The man picked up the “dead” mon-
key and clutching it in his arms began to
weep. The same young man stepped for-
ward and threw some money into the hat.
Again the crowd followed suit except for
Robert. Smiling to himself, he went on his
way, amazed at the man’s audacity.

6. Robert wanted to see what was happen-
ing round the entrance to the park be-
cause .

A. he liked to see crowds of people
B. the entrance to the park was very
crowded
_C« the crowd aroused his curiosity
D. the park was always crowded

7. When they saw an old man with his per-

Robert and other

- members of the crowd

_A<"began to leave after throwing a few

pennies into the hat

forming monkey,

B. were attracted by the performances
C. discovered the performances were
: Very interesting

D. threw a few silver coins in the hat

8. When people thought that the monkey -
was dead they

, all moved off

i/ B. threw a few coins

€7 threw a few silver coins
D. threw a lot of money into the hat

9. A few.months later, Robert in
another part of the city.
A. crossed the road to meet the old man
B. met the old man from time to time



_G. met the old man by chance
D. caught sight of the old man ‘
10. Robert did not throw any money into the
hat the second time because B
A. there was enough money in it already
B. he had seen the man’s tricks before

C. the monkey’s tricks were not very

" good
D7 he saw through the man’s trick
Passage 3
When prices are low people will buy
more, and when prices are high they will
buy less. Every shopkeeper knows this.

But at the same time, producers want high-

er prices for their goods when they make
more goods. How can we find the best price
for the goods? The Law of Supply and De-
mand is the economist’s answer to this ques-
tion,

prices of goods cause changes in supply and
demand. An increase in the price of the
goods. causes an increase in supply—the
number of goods the producers make. Pro-
ducers will make more goods when they can
get higher prices for the goods. The pro-
ducer makes more shoes as the price of
shoes goes up. At the same time, an in-

crease in the price of the goods causes a de-
crease in demand—the number of goods the -

~ consumers buy. This is because people buy
less when the price is high. People buy few-
er shoes as the price of shoes goes up. Con-

versely, a decrease in the price causes an in-

crease in demand (people buy more shoes)
and a deq}g_s\g_ﬁi,_r;_,supplﬁx (pro‘élucers make
“fewer shoes). ‘

Business firms look at both supply and
demand when they make decisions about
prices and production. They look for the e-

-guilibriuni--peint where supply equals de-

- mand. At this point, the number of shoes

- produced is 3, 000 and the price of the shoes
is $30. $30 is the equilibrium price; at
this price the consumers will buy all of the

According to this law, changes in the

j o
o

3, 000 shoes, which the producers make, If

_the producers increase the price of the

shoes, or if they produce more than 3, 000
shoes, the consumers will not buy all of the
shoes. The producers will have a surplus
(3% B ) —more supply than demand—so

they must decrease the price in-order to sell .

all of the shoes. On the other hand, if they

make fewer than 3, 000 shoes, there will be

a shoes shortage— more demand than sup-

ply—and the price will go up.

According to the Law of Supply and
Demand, the equilibrium price is the best
price for the goods. The consumers and the
producers will agree on this price because it
is the only price that helps them both equal-
ly.

11. Why does an increase in price cause an

" increase in supply?
A. Consumers buy more goods when
prices are high.
_B: Producers make more goods when
- prices are high. .
C. Producers want to sell all of their
goods,
D. Consumers will not buy all of the
goods.

12. Why does a decrease in prices cause an
increase in demand? -

A. Consumers buy fewer goods when
prices are low. .

B. Producers make fewer goods when
prices are low.

C. Producers make more goods when
prices are high.

B Consumers buy more goods when

prices are low. .

13. What do business firms look at when
they make decisions about prices and
production?

T* A. The supply curve.

B. The demand curve: .
€. The equilibrium point.
D.. All of the above.
14. Why will consumers and producérs agree

T



on the equilibrium price?
—A. It will help them both equally.
B. It is the only price for the goods.
C. It is the lowest price.
D. All of the goods will be sold.
15. When will producers have asurplus of
goods? :
~—A. When supply equals demand.
B. When there is more supply than de-
"mand.
C. When there is more demand than
supply.
D.” When they sell all of their goods.
Passage 4
21 Beacon Road,
Selmore,

April 7th, 1990

Dear Mr. Fenton,

On May Ist we are planning to hold a
dinner to celebrate the fifth anniversary of
the Selmore Literary Society .and I have
been .asked by our committee to invite you
to be the guest of honour on this occasion.
Since you came to live in our town last
year, you have always shown a great deal of
interest in our activities and you are without
doubt our most popular speaker. We shall
all be delighted as well as highly honoured
“if you can once again find the time to spend
an evening in our company. I will send you
further details as soon as I hear from you. I
hope you will be able to accept this invita-
tion.

Yours sincerely,
J. N. Edwards
Honorary Secretary, y
Selmore Literary Society. L

Scott Villa,
Selmore,
April 12th, 1990
Dear Mr. Edwards, Tt
Thank you for your letter of April 7th,
which I am answering on behalf of my hus-

16. The

band. Apparently you have not heard that
about a month ago my husband was taken
seriously ill, as a result of overwork. Al-
though he is now much better, the doctor
has ordered him to take a complete rest for
at least three months. As a matter of fact,
we are leaving for the Continent as soon as
he is fit to travel and it is unlikely that we
shall return to England before the end of Ju-
ly.

In view of this, I regret that my hus-
band is unable to accept this kind invitation
to the dinner which your society is holding
on May Ist. He has asked me, however, to
send his very best wishes for the success of
the occasion and says that he hopes to be

with you again in the autumn.

Yours sincerely,
Lydia Fenton
Selmore Literary Society was
founded ]
A. on May Ist, 1990
—B.:7on May lIst, 1985
C. on April 7th, 1990
D. on April 7th, 1985
17. Mr. Fenton was asked to be the guest

of honour because
A. he was a famous businessman
B. he was a successful writer
_ C. he was very interested in their activi-
ties
D. he was a great millionaire
18. Mrs. Fenton refused the invitation on
behalf of her husband because
A. he was seriously ill
B. he was recovering from a serious ill
ness
C. he has to take a complete rest
_DB. the doctor had ordered him to stay
in bed for three months
19. Mr. Fenton was taken seriously ill be-
cause
A. he had many serious troubles
B. he didn’t like taking part in sports
L. he had been working very hard
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